49

LMG...ST / T BYgER~T&R @@U@

MOTION TECHNOLOGY

© o] © 2] / ©
I~ | & =~
[€) &) €] )
C e3 e4
BRI T BRI ST
4-Sx¢ 2-Sx/¢
G L G L
el L1 el L1
EEOIE) o2 Nigye @2
h
M1 1 } y
: i s i
dl] -
B mm
B |EE | B2 REE, | 18R RIE | LB | REIER, | BT |H7 "1’“’ (KN;"” ~ M BN™) |y | s | e
BE(E 38, 25 sais
M |w]| L |B|C| sx G xhx C o | BME (WEER BEE WEER M| kg | Kom
L1 |T| K[ N|el|e2|e3 | ed| G W1 | W2 | M1 F Dxhxd KN KN B [EwiE B [ERieE
LMG15ST| 24 34 40.7 | 26| — | M4x5 22 61195| 5 | 33| 4 — 148 7 |M4x07| 15 | 95 13 60 |7.5x53x45% 7.3 9.4 0.03 0.27 0.03 0.27 0.07 | 0.09( 1.29
LMG15 T 24 34 58.2 |26[26] M4x5 | 395 | 6 [195 5 | 33| 4 |10.6 - 7 |M4x07| 15 | 95 13 60 |7.5x53x45% 11.8 18.9 | 0.13 0.76 0.13 0.76 [0.15 | 0.15] 1.29
LMG20 ST| 28 42 47 [32] — | M5x6 | 245 | 6 [23.4|6.5]| 45| 5 — 16.8| 12 |M6x0.75| 20 11 15 60 | 95x85x6 11.7 14.8 | 0.07 0.562 0.07 0.562 0.15 | 0.15| 1.92
LMG20 T 28 42 75 |[32]32] M5x6 | 525 | 6 [23.4(65| 45| 5 |14.8]| - 12 |M6x0.75[ 20 11 15 60 | 95x85x6 20 32 0.30 1.68 0.30 1.68 0.33 | 0.28 | 1.92
LMG25 ST| 33 48 59.5 |35 - | M6x7 | 345 | 8 [265]| 7 5 |65 - [223| 12 |[M6x0.75] 23 | 125| 18 60 11 x9x7 19.2 24.8 | 0.16 1.07 0.16 1.07 0.30 | 0.26 | 2.67
LMG25 T 33 48 83.6 |35[35| M6x7 | 586 | 8 [26.5]| 7 5 165|168 - 12 |M6x075( 23 [12.5| 18 60 11x9x7 27.9 425 | 0.44 2.47 0.44 2.47 0.51 0.41| 2.67

#1. LMG15 B#iREMIReTERI (7.5+5.3-4.5) £/ M4 1312, BRERS LMGI6R,; &HHEA M3 iRk, MEARTA 6-:4.5-3.5, BYHRFETRA LMG15U,



